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List & Slicing for Python



™ %4 EES: Anaconda Powershell Prompt (Anaconda3)

base) PS D:\python\programming> pip i1nstall opencv-python --upgrade

equirement already satisfied: opencv-python in d:\programdatalanaconda3\lib\site-packages (4.5.1.48)
ollecting opencv-python

Downloading opencv python-4.5.3.56-cp38-cp38-win amd64.whl (34.9 MB)
| SRR 3.0 1B 2.2 MB/s

gquircmcnt already satisfied: numpy>=1.17.3 1n d:\programdatal\anaconda3\lib\site-packages (from opencv-python) (1.19
)

nstalling collected packages: opencv-python
Attempting uninstall: opencv-python
Found existing installation: opencv-python 4.5.1.48
Uninstalling opencv-python-4.5.1.48:
Successfully uninstalled opencv-python-4.5.1.48
successfully installed opencv-python-4.5.3.56
base) PS D:\python\programming>




E2 mE(list) : KE—EEFRHRNESH

G 9R 1 AL B & R 4 (data structure), 1 & BT 8 B
£ 7| (list) °

dices=['"', 'DICEQ1.png"', 'DICE@2.png', 'DICE@3.png"', 'DICEQ4.png', 'DICE@S.png’,

print(type(dices))
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st = [10

. print(lst)
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expenses = [1138, 101, 12, 300, 2049] <«— Z 1 %%

. print (expenses[0])

H /B =
print (expenses[4]) } A %3 (ﬁ‘gjﬁ'%) BRIZ7C%
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expenses[2] = 120 é (1138, 101, 120, 300, 2049]

print (expenses)
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print(dices[2])
print(dices[-1])

print(dices[©:6:2])
print(dices[6:08:-1])
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& A v F slicing

dices=["'"', 'DICE@l.png', 'DICE@®2.png"', 'DICE®3.png', 'DICEO4.png"', 'DICEOBS.png’', 'DICEG6.png" ]
print(type(dices))

<class "list'>

print(dices[1:5])




dices=["'', 'DICE@l.png', 'DICE@2.png', 'DICE®3.png"', 'DICEG4.png"', 'DICEOS5.png', 'DICEG6.png" ]

print(dices[2])
print(dices[-1])
print(dices[0:6:2])
print(dices[6:0:-1])

DICE®2.png

DICE®6.png

["', 'DICE@2.png', 'DICE@G4.png']

[ 'DICE@6.png’, 'DICE@S5.png', 'DICE@4.png', 'DICE@3.png', 'DICE@2.png', 'DICE@l.png’]
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- print (expenses[1:]) <— £# [1:5]

 print (expenses[:3]) <— £# [0:3]
print (expenses[:]) <~ £% (0:5]
print (expenses[::]) <— £# [0:5
 print (expenses([::2]) <— REMET|, L& 2 MTHR—=K
print (expenses|[::-1]) <— RE@A L 5|, BHIF 85 R (1 % 5|6%])
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RIS T2 © append()

HER foE25 T2 - remove() ~ clear()
Insert

TLZAER @ sum()

TLZEE - len()

e/ NIEROR(E - max() ~ min()
TTEHEE sorted() £ sort()
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B T  append()

5% .append(FTEF})
85T B G &= (R R B R )M Av 2 & 7Y B 0w o

dices=['"', 'DICE@Q1.png', 'DICE®2.png", 'DICE@G3.png"', ‘DICE®4.png"', 'DICEGS.png', 'DICEG6.png’ ]

dices.append([90,1,2])
nrint(dices)
print(dices[-1][9@])

['", 'DICE@l.png', 'DICE©2.png', 'DICE@3.png', 'DICE@4.png', 'DICE®5.png', 'DICE@6.png', [0, 1,

2]]
0

dices.remove(dices[@])
print(dices)

[ 'DICE@l.png*, 'DICE@2.png', 'DICE@3.png', 'DICE@4.png', 'DICE®S5.png', 'DICE@6.png’', [0, 1, 2]]




i expenses.clear ()

i print (expenses)




Insert(index, new element)

5]: |dices.remove(dices[9])
print(dices)

[ 'DICE@l.png', 'DICE@2.png', 'DICE@3.png', 'DICE@4.png', 'DICE®S5.png', 'DICE@6.png', [©, 1, 2]]
dices.insert(@, 543)

print(dices)

[543, 'DICE@l.png', 'DICE@2.png', 'DICE@3.png’,
1, 2]]

'DICE@O4.png', 'DICE@OS5.png’', 'DICE@6.png', [0,
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expenses = [1138, 101, 12, 300, 2049] <— expenses MR 435 %,

Y key B R

print (sum (expenses))
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expenses = [1138, 101, 12, 300, 2049]

print (len (expenses))
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print (sum(expenses) / len (expenses))
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print (min (expenses))

print (max (expenses))
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s = sorted(expenses)

.~ print(s, expenses) <— EREEFIEVHRA

s CHEE S J5 BB expenses A&

(12, 101, 300, 1138, 2049] [1138, 101, 12, 300, 2049]
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